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ECO-10 : ELEMENTS OF COSTING 

Time : 2 hours 	 Maximum Marks : 50 

(Weigh tage 70%) 

Note : Attempt any two questions from section-A and any 

two questions from section-B. 

SECTION-A 

1. What do you mean by process costing ? How is it 3,7 
different from job costing ? Explain. 

2. (a) What are the objectives of cost accounting ? 5,5 

(b) State the advantages of the perpetual 

inventory system. 

3. Write short notes on any two of the following : 	5,5 

(a) Store keeping. 

(b) Bin Card. 

(c) Centralised purchasing. 

(d) Absorption of factory overheads. 
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SECTION - B 

4. (a) Annual usage of material is 4,000 units and 5,10 
it costs Rs. 15 to handle an order for this 
material. The price of material is Rs. 20 per 
unit and carrying cost of inventory is 18% 
per annum. Calculate EOQ. 

(b) From the records of a manufacturing 
company the following details of costs are 
available. 

Rs. 

Direct materials 1,99,000 

Direct wages 1,11,000 

Administrative overheads 90,000 

Selling overheads 81,000 

Factory overheads 1,40,000 

Calculate : Prime cost, works cost, cost of 
production and cost of sales. 

5. Product X is obtained after it is processed through 15 
three distinct processes in respect of which the 
following cost information is available. 

Process (Rs.) 
Particulars 

I II III 
Materials 2,600 2,000 1,025 
Direct wages 2,250 3,680 1,400 
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500 units @ Rs. 4 per unit were introduced in 

process I. Production overheads amounting to 

Rs. 7,330 are absorbed as a percentage of Direct 

wages. 

The actual output and normal loss of the respective 

processes were : 

Actual 

Output 

(Units) 

Normal 

Loss 

(%age) 

Value of 

scrap per 

unit (Rs.) 

Process I 450 10% 2 

Process II 340 20% 4 

Process III 270 25% 5 

Prepare the process I, II and III accounts. 

6. 	(a) Compute the machine hour rate from the 10,5 
following data. 

Total machine hours worked p.a. 4,400 hrs. 

Setting up time 400 hrs. 

Expenses for the machine p.a. (in Rs.)  

Rent 12,000; 
	

Lighting 1,200 

Repairs 2,400; Supervision 4,800 

Two attenders looking after 4 machines were 

paid Rs. 120 p.m. each. 

Power consumed by the machine was 10 units 

Per hour @ Rs. 40 per 100 units 

Cost of machine Rs. 17,200 
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Scrap value Rs.1,200 

Life period 16,000 hrs. 

Sundry supplies for the machine shop are 

Rs. 480 p.m. there are 4 identical machines 

in the shop. Supervision time is equal for 

all machines. 

(b) List the items excluded from cost accounts. 
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